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Instructions for the candidate:
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Candidates are required to give their answers in their own words as far as
practicable.
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Figures in the right hand margin indicate full marks.
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All questions aré compulsory.
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Whilé ‘answering, the candidate should adhere to the word limit as far as

practicable.
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15 Minutes of extra time has been allotted for the candidates to read the questions.
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Choose the correct oplion-

v IRER KT 4 2x 232 3 A & g

. et (1
o -2 (@ 2
I
o 3 @ -1
2
The sum of roory e
(a) -2 roots of the quadratic equation x? 4 25 - 3 = 0 will be-
a -2 :
(by 2
I ’
) = |
2 d) - =
(d) 5
‘ “ﬁi@ﬁP("i=x:+7x+ma‘=ma,ﬂﬂa}a.ﬂaﬂﬂﬁm— (1)
s
=10 @ .10
‘ 7
) 10 (@) 0
If o, P are the zeros of the quadratic polynomial p (x) = x*+ 7x + 10, then the value
of a,P will he-
@ 10 ® .10
o 7
(c) 10 (d) Td
3. o P IRE A ARA A v R A AR W H A FEAAT- (1)
\@)4:511 (@) wifge
(M) s @ o T
Putting the value of variables in ascending or descending order, the vglue of middle
variable will be called-
(a) Mean (b) Median
(c) Mode (d) None of these
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o 5 o wom b-

fw) oftm (@) smfddm
(m s (m) W
J5 is a number-
{a) Rational number (b) Irrational number
(c) Integer (d) Natural number
5. R (. -5) 30 q@ Rg A el . (1)
) Y4l @ 3
(m) -3 @ -J4l
Distance from the origin of the point (4, -5) will be-
(a) V4 ® 3
() -3 d) -4l
6. wen R A g A ¢ v it A g erfl- ()
(®) s (&
m Zrh (@) amn

The length of Tangents on a circle from any external point will be-

(a) Unequal (b) Equal
(c) Double (d) Half
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(1) 100% (@ 0%

: -olume of cone wil he.
The height of cone is 24 cm. radius of base is 6 ¢m- Then be

(a) 288x (b) 1887
(c) 100x (d) 90%
8 fftmn wea & mfawm efl- (1)
(®) 1 @ 2
m o @ 3
The probability of certain event will be-
(a) 1 by 2
(c) 0 (d) %
9 1 +cot’0 & =2 Am- ()
(@) sec’® _fa)f.cosccze
() tan’ (@ cot’®
The value of | +cot’8 will be-
(@) sec’d (b) cosec’d
(c) tan’d (d) cot’d
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(1)

o e T @ e
”-l" ) l
3 Ll
(%) :;3 M |3
X
The value of cos z will be-
|
[
L b)) =
. W 3 vl
i
() \—1— (d) 3
1. x “ ey ve W w — & g I [l}
BB A i Number
1
2 41_4-?.____. ___qeuTd) (1)
A"+ is ...polynomial.
n wiye W I g &y (1)
The angle of semi circle is......................
U PIIAMKRIMTaaados_______awm by (1)
The perpendicular o the chord from the centre of any circleis .............
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15
The co - ondinates of middle point of line joining points (xp. Y1) and (6. v

16 SRS ERUEL RIS R TR R (| P—— (v
The distance between (a, b) and (-0, -b) will be...ooreecninnnn

o TR 2sinA= V3l A o T (1)
If 25in A = V3 then the value of Awillbe....oaaernns

o TReosA= Y Bund R v
Ifcos A = g then the value of tan A will be ....ooiinnnnnns

197 WA WA - @ woul @ e = HCF. x LCM. (1)
True or False - The product of two numbers is equal to H.C.F. x L.C.M.

20." IRETH IRRARA TS TP oo *Ed 8 (1)
The class which has maximum frequencies is called................

21 feam agae 2 - 8x + 6 @ iRt @1 UM @ RS T W @)
Find the sum and product of zeroes of quadratic polynomial 2x* - 8x + 6

A R e 3 e @ avale w@ e o @ R il @) R 2

Find the conditions of rdots of quadratic equation to be real and equal.

2. T g i 3 oRff 30 0. & gwe dwa s AR @)
The parameter of an equilateral triangle is 30 cm. Find its area,
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3

.' i A OpF 71 aa o g u® o Y PA = 12em W OA = Scem J @)

()

A

In figure, find the value of OF of Tangent PA = 12cm and OA = S¢m.

Rl A (S5.2), B(4.7) 37 4) # @R TR A ABC w1 v ¢ g mly @
Find the arca of A ABC whose sertices are A (S, 20 B (4. 7)and 2304

qa qn ) oI s AR R g e drvew W ¥ @)
Find the area of circle whose circumference it 88 cm.

A ufl A A w0 wmcre e ot R WU TR 9 woop gE OIS
unent &) wemy o B g g w1 )
Two cubes each of volume 64 ¢m’ are joint end 10 end. Find the wrface area of the
resulting cuboid.

_;_!,“ Mpfa o1 #cr g 2t o ™ () -8) (-7, ¢) 7m0 (10 -2) 7 @)

Find the centrond of a tnangle whose vertices are (3, -5), (-7, 4) and (10, -2).

f/ﬂfdpnﬁacmhmmtra'i-- A+Be90 0)
Iftan A = cot A then prove that - A +B = 90°
)/ln' ® etafadin yqu e o) 2)
Hﬁt‘clngm ratios of 60°
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AP 381318 .. wIamagss {2)

J
Which termof un A.P. 3, 8, 13, 18 is 787
u/mm’?ﬁ’-\fimﬁﬁumtl )
&

Prove that 3 is an irrational number.
yl‘“mwmﬂrﬁ?#ummwﬂ.c.ﬁaﬂ?L.CM.mﬂﬂﬂl ()
Find the H.C.F. and L.C.M. of 96 and 404 by the prime factorisation mcthod.

/:94. I3-x:={x+5)’m’imaﬂ| ()
Solve: 13-x*=(x + 5)°
3. U WM Por o Surf smar A 7 0 3w 8 AR T 3 W F A @
YRl A ST w ¥ - (3)
The height of a right angle triangle is 7 cm less than its base. If hypotenuse is 13 cm
then find the value of remaing two sides.
%, WAE A ABC B ke w1 o vord & @ R ot R Pt ot o LD g
grm | (3)
Each side of an equilateral triangle ABC is a unils..Prove that the altitude of the
triangle will be %n.
Wmmamﬁmuﬁngm,s;.nm.mmc(s,.mmc. o)
If points A (2, 3), B (4, K) and C (6, -3) are collinear, then find the valué of K.
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3. Wﬂ‘aﬂaamsﬁismmfmhmaaq;\qmﬂzmmﬁﬁﬁﬂwmﬁl

)
T wiftwmm v & % (i) I 8 (i) 98 T8 B G)
A bag contains 3 red balls and 5 black balls. One ball is drawn at random. Find the
probability (i) ball is red (ii) ball is not red.
/I-Ifélun A+B)= V3 MR un(A-B)= ——1—
E (A+B)= 3 n ( 75
0< A + B <90° A>B.
MAMB F A TR B ()
|
If tan (A +B) = /3 and tan (A - B) = —
J3
0<A+B<9° A>B
then find the value of A and B.
P - fl+sin A |
. 40 =seccA+tan A (3)
A0 1£ir e SeC an
Prove that I+s‘mA =secA+tan A
I-sin A
:},ﬁﬁﬁmmﬁmmm%mmﬂﬁ| @)
T SIRTel | 10—25 | 2540 | 40-55 | 55-70 | 70-85 |[85-100
TRART 2 3 7 6 8 6
Find the mean of following frequency distribution:
C.1 10—25 | 25—40 | 40—55 | 5570 | 70—85 |85-100
frequency 2 L3 7 6 ] 8
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42 Prefafln oOARm 23 R g W w1 ()

" SFTE | 25-30 | 3035 | 35-40 | 40-45 [ 45-50 | 50-55 |
| |

1
|
p-—

|
(AR | 28 Y 50 42 38 14
' !
| 1

Calculate the mode for following frequency distribution:

(. 25-30 | 30-35 | 35-40 | 4045 | 45-50 | 50-55
1

| | 42

| frequency ' 25 M4 50 38 14
|

o/ & e 35 30 Brow a@ viE P R & & A o Brow A e s @
FarfYa &1 38 fadh @ gt dwg 155 . 2 38 R =1 Wt g dEwd

g ]
ammmaﬁmln=17-2— (5)

A toy is in the form of a‘cone mounted on a hemisphere of radius 3.5 cm. The total

height of the toy is 15.5 cm. Find the total surface area and volume of the toy. &= -2?2-

g’-mﬁﬁﬁmﬁ— (s)

&xX+y=6Tu4x -2y =4
Solve by graphical method:

2x+y=6and 4x -2y =4
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AW 0w RIS e 30° 8 o e B @ @ A

et w1 =1 v 00® 81 ot Aome oY Svrd soft & o e A Surf Ard?  (9)
The angle of clevation of the top of building from the foot of a tower is 30° and the

angle of elevation of the top of the tower from the foot of the building is 60°. If the

tower is 50 metre high, find the height of the building.
Jyar
& | S R & AR ) orn 9 Rafd 3 40 A afE @B anht & s
T IR B 60° A weaR 20° B wwn 1 AR A Fand wmwr ddey
The shadow of a tower standing on a Jevel ground is found to be 40m. longer when

the sun’s altitude is 30° than when it is 60°. Find the height of the.tower,

g = M 2w ol @ dawal @ aqum @ wm el @ ot @ s &
g & )
Prove that the ratio of the-arcas of two similar triangular is equal to be square of the
raio of their cpiSaphoding sides. -

T
ok N B A @ o @ wf o D el @ ot @ O B wWR § o e
4 B W BT TR ¥ 84 |
In a triangle, if squarc of one side is cqual to the sum of the square of the other two
sides, than the angle opposite the first side is right angle.
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a3 af fPrem ® ow go A o gu W g e Y @i o G o A 60°\!' .
o wmf &) (8)
Draw a circle of radius 3 cm. Draw a pair of tangents to the circle, which are inclined
to each other at an angle of 60°

UG

s ¥, 6 AN a7 A el I@ T P A v A R @ s wEEd
Prg@ % T e el Ao R B Pt o v o A S o6 €
Construct a triangle whesesides are 5 cm.. 6 cm and 7 cm. construct a similar triangle

5 ¢ ; .
such that cach of its side is }i of the comresponding sides of the triangle.

N e L e

flEr didd e 3ie gerat siffhfaas
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